

## On the definition of $C^*$ -algebras

By Z. SEBESTYÉN (Budapest)

*Dedicated to Professor András Rapcsák on his 60th Birthday*

Let  $A$  be a linear associative algebra over the field  $C$  of the complex numbers. We do not assume that  $A$  has an identity element.  $A$  is called a normed algebra provided there is a linear space norm on  $A$  satisfying the so-called multiplicativity condition

$$(0) \quad \|xy\| \leq \|x\| \|y\| \quad (x, y \in A).$$

If  $A$  possesses an identity element  $1$ , then it is also assumed that  $\|1\|=1$ . If  $A$  is complete with respect to this norm, then it is called a Banach algebra.

A mapping  $x \rightarrow x^*$  of  $A$  into itself is called an involution if the following standard algebraic conditions

$$\begin{aligned} \text{(i)} \quad & (\lambda x + y)^* = \bar{\lambda}x^* + y^* \\ \text{(ii)} \quad & (xy)^* = y^*x^* \\ \text{(iii)} \quad & (x^*)^* = x \quad (\lambda \in C; x, y \in A) \end{aligned}$$

are satisfied. An algebra with involution  $(^*)$  is called an involutory algebra or briefly a  $^*$ -algebra.

The starting point of the theory of Banach  $^*$ -algebras was the excellent paper [6] of GELFAND and NAIMARK. In this work the authors proved that a Banach  $^*$ -algebra with an identity is  $^*$ -isomorphic and isometric to a norm-closed selfadjoint subalgebra of all bounded linear operators on a suitable Hilbert space provided the following three conditions are fulfilled:

$$\begin{aligned} \text{(iv)} \quad & \|x^* \cdot x\| = \|x^*\| \|x\| \\ \text{(v)} \quad & \|x^*\| = \|x\| \\ \text{(vi)} \quad & 1 + x^*x \text{ is regular} \quad (x \in A). \end{aligned}$$

At the same time they conjectured that both the fifth and sixth conditions are consequences of the first four. As a consequence of the work by KELLEY—VAUGHT [10] and FUKAMIYA [5], KAPLANSKY was able to remove in [9] the so-called symmetry condition (vi). In [8] GLIMM and KADISON have given a direct proof of the Gel-

fand—Naimark theorem without assuming conditions (v) and (vi). By a suitable embedding into the algebra obtained by adjunction of an identity to the original algebra, VOWDEN proved in [17] that no assumption on the existence of an identity is necessary to have the Gelfand—Naimark theorem.

By a  $B^*$ -algebra we shall mean a Banach  $*$ -algebra with condition (iv). It should be mentioned that for Banach  $*$ -algebras with unit BERKSON [3] and GLICKFELD [7] required the  $B^*$ -condition only with elements of the form  $\exp(ih)$ ,  $h$  is selfadjoint. We have thus the characteristic identity

$$(vii)_1 \quad \|\exp(iht)\| = 1 \quad (t \text{ real}; h \in H(A)),$$

where  $H(A)$  denotes the selfadjoint part of  $A$ .

This condition defines in a complex Banach algebra the set  $H(A)$  of the so-called Hermitian elements. PALMER showed in [11, 12], that  $(vii)_1$  with the additional condition

$$(vii)_2 \quad H(A) + iH(A) = A$$

ensures the existence of an involution called Vidav-involution, such that  $H(A)$  is just the selfadjoint part of the  $B^*$ -algebra  $A$  with respect to this involution.

In a Banach  $*$ -algebra  $A$  the conditions (iv), (v) are clearly equivalent to the so-called  $C^*$ -condition

$$(viii) \quad \|x^*x\| = \|x\|^2 \quad (x \in A).$$

A Banach  $*$ -algebra with condition (viii) is called a  $C^*$ -algebra. In case  $A$  is a Banach  $*$ -algebra without a unit element, BEHNCKE [2] and ELLIOTT [4] proved that for  $A$  to be a  $B^*$ -algebra [or a  $C^*$ -algebra] it is enough that (iv) [or (viii)] hold when  $x$  is normal (i.e. such that  $x^*x = xx^*$ ).

Recently H. ARAKI and G. A. ELLIOTT have shown in [1] that the multiplicativity condition (0) follows from the  $C^*$ -condition (viii) or from the  $B^*$ -condition (iv) provided the involution is a norm-continuous map. At the same time they raised the following two problems:

- (I) Is it necessary to assume that the involution is continuous in the second statement?
- (II) Is it enough to assume condition (iv) or (viii) for normal elements to conclude the multiplicativity condition (0)?

The answer to (II) is in the negative as the full algebra of bounded linear operators on a Hilbert space of dimension not less than 2 shows, with the numerical radius as norm [see e.g. 15]. However the author showed in [16], that the sub- $C^*$ -condition

$$(ix) \quad \|x^* \cdot x\| \cong \|x\|^2 \quad (x \in A)$$

together with condition (viii) for normal elements ensures that a complex  $*$ -algebra  $A$  with complete linear space norm be a  $C^*$ -algebra.

The purpose of the present paper is to give an affirmative answer to the problem

(I) of the ARAKI—ELLIOTT paper [1]. More generally we shall prove that the sub- $B^*$ -condition

$$(X) \quad \|x^* \cdot x\| \cong \|x^*\| \|x\| \quad (x \in A)$$

together with (iv) for normal elements implies the multiplicative condition (0) in complex  $*$ -algebras with complete linear space norm, i.e.  $A$  becomes a  $C^*$ -algebra. The last theorem completes the result of the author's paper [15].

We use in general the notation of RICKART's monograph [14]. The first statement plays a central role in the arguments of this paper. It is a general version of [15], Lemma 1.

**Lemma 1.** *Let  $A$  be a complex involutory algebra with linear space norm such that*

$$(1) \quad \|x^* \cdot x\| \cong C \|x^*\| \|x\| \quad (x \in A)$$

*holds with some constant  $C$  independent on  $x$ .*

*Then  $A$  is a normed  $*$ -algebra with continuous involution under a suitable algebra-norm.*

PROOF. We are going to prove first

$$(2) \quad \|hk\| \cong 4C \|h\| \|k\| \quad (h, k \in H(A)).$$

Let us consider the identity

$$4hk = (h+k)^2 - (h-k)^2 + i(h+ik) \cdot (h-ik) - i(h-ik) \cdot (h+ik)$$

for any two selfadjoint elements  $h$  and  $k$ . Apply then (1) together with the subadditive property of the linear space norm to have

$$\|hk\| \cong C(\|h\| + \|k\|)^2.$$

In case that  $h$  and  $k$  differ from 0, we can replace  $h$  and  $k$  with  $h/\|h\|$  and  $k/\|k\|$  respectively so that (2) becomes immediate. Consider the "complexification norm" defined by

$$\|h+ik\|_1 = \frac{1}{\sqrt{2}} \sup \{ \|h \cos t - k \sin t\| + \|h \sin t + k \cos t\| : t \text{ real} \}.$$

This norm is such that

$$\frac{1}{\sqrt{2}}(\|h\| + \|k\|) \cong \|h+ik\|_1 \cong \|h\| + \|k\|, \quad \|h\| = \|h\|_1$$

and

$$\|h+ik\|_1 = \|h-ik\|_1$$

hold [see 4, p. 7] for  $h, k \in H(A)$ . The multiplication is then continuous with respect to this norm as an easy computation shows:

$$\|xy\|_1 \cong 8C \|x\|_1 \|y\|_1 \quad (x, y \in A).$$

The "extended left regular representation norm" on  $A$  with respect to 1-norm defines then an appropriate algebra-norm by

$$|x| = \sup \{ \|x\lambda + xy\|_1 : \lambda \in C, y \in A; |\lambda| + \|y\|_1 = 1 \} \quad (x \in A).$$

This norm  $|\cdot|$  satisfies indeed the multiplicative condition (0) since it is an operator norm on the normed space  $A$ , which is further equivalent to the 1-norm as the obvious inequality

$$\frac{1}{\sqrt{2}} \|x\| \cong \|x\|_1 \cong |x| \cong 8C \|x\|_1 \quad (x \in A)$$

shows. This implies also that the involution is a continuous map on  $A$  under the  $|\cdot|$ -norm so that the proof is complete.

The spectral radius on  $A$  with respect to the  $|\cdot|$ -norm, defined by

$$(3) \quad r(x) = \lim_{n \rightarrow \infty} |x^n|^{1/n} \quad (x \in A),$$

will be of great importance in the following. It makes possible to solve the problem which remained open in the author's paper [15].

**Theorem 2.** *Let  $A$  be a complex commutative  $*$ -algebra with complete linear space norm such that*

$$(4) \quad \frac{1}{C} \|x^* \|x\| \cong \|x^* x\| \cong C \|x^* \|x\| \quad (x \in A)$$

with some constant  $C$  independent on  $x$ . Then  $A$  is a  $C^*$ -algebra with an equivalent norm.

**PROOF.** We prove first that the spectral radius given by (3) satisfies the  $C^*$ -condition

$$(5) \quad r(x^* x) = r(x)^2 \quad (x \in A).$$

It is immediately an algebra pseudonorm such that

$$(6) \quad r(x^*) = r(x) \quad (x \in A)$$

being the  $*$ -operation continuous with respect to the  $|\cdot|$ -norm.

Let now  $h$  be an arbitrary selfadjoint element in  $A$ . (4) gives then by induction for any natural  $n$

$$C^{1-2^n} \|h\|^{2^n} \cong \|h^{2^n}\| \cong C^{2^n-1} \|h\|^{2^n}.$$

This implies the useful inequality for the spectral radius

$$(7) \quad \frac{1}{C} \|h\| \cong r(h) \cong C \|h\| \quad (h \in H(A)),$$

being the norms each equivalent on  $H(A)$ . It then follows

$$(8) \quad r(x) \cong r\left(\frac{x+x^*}{2}\right) + r\left(\frac{x-x^*}{2i}\right) \cong C(\|x\| + \|x^*\|) \quad (x \in A)$$

and

$$(9) \quad \|x\| \cong \left\| \frac{x+x^*}{2} \right\| + \left\| \frac{x-x^*}{2i} \right\| \cong C(r(x) + r(x^*)) = 2Cr(x) \quad (x \in A),$$

using only (6) for the canonical decomposition of  $x$  into selfadjoint components together with the subadditivity.

We are able to prove the following expression which is interesting in itself:

$$(10) \quad r(x) = \lim_{n \rightarrow \infty} \max [\|x^n\|^{1/n}, \|(x^*)^n\|^{1/n}] \quad (x \in A).$$

Note first that for any natural  $n$

$$r(x^n) = r(x)^n \quad (x \in A)$$

and so by (8)

$$r(x)^n = r(x^n) \leq C(\|x^n\| + \|(x^*)^n\|) \leq 2C \max (\|x^n\|, \|(x^*)^n\|)$$

holds with any  $x \in A$ . This shows

$$r(x) \leq \liminf_{n \rightarrow \infty} \max (\|x^n\|^{1/n}, \|(x^*)^n\|^{1/n}) \quad (x \in A).$$

On the other hand we have by (9)

$$\max [\|x^n\|, \|(x^*)^n\|] \leq 2Cr(x^n) = 2Cr(x)^n$$

giving the reverse inequality for  $r(x)$  as follows:

$$\limsup_{n \rightarrow \infty} \max [\|x^n\|^{1/n}, \|(x^*)^n\|^{1/n}] \leq r(x) \quad (x \in A).$$

These give together the stated identity (10).

We have thus in particular

$$(11) \quad \lim_{n \rightarrow \infty} \min [\|x^n\|^{1/n}, \|(x^*)^n\|^{1/n}] = r(x^*x)/r(x) \quad (0 \neq x \in A).$$

To show this let us consider by (4) the inequalities

$$\begin{aligned} & \frac{1}{C} \min [\|x^n\|, \|(x^*)^n\|] \max [\|x^n\|, \|(x^*)^n\|] = \\ & = \frac{1}{C} \|(x^*)^n\| \cdot \|x^n\| = \|(x^*x)^n\| \leq C \|(x^*)^n\| \|x^n\| = \\ & = C \min [\|x^n\|, \|(x^*)^n\|] \max [\|x^n\|, \|(x^*)^n\|]; \end{aligned}$$

take  $n^{\text{th}}$  root with any natural  $n$ .

We need only letting  $n \rightarrow \infty$  to have (11) because of (10).

We are now going to prove the  $C^*$ -property (5) of the spectral radius. Assume first that there exists an index  $n_0$  such that

$$(12) \quad \|x^n\| = \min [\|x^n\|, \|(x^*)^n\|] \quad (n \geq n_0)$$

holds for a nonzero  $x$  in  $A$ . We have then by (11)

$$\lim_{n \rightarrow \infty} \|x^n\|^{1/n} = r(x^*x)/r(x)$$

so that  $\lambda^{-1} \cdot x$  has a quasi-inverse for  $|\lambda| > r(x^*x)/r(x)$ :

$$(\lambda^{-1}x)^0 = - \sum_{n=1}^{\infty} (\lambda^{-1}x)^n.$$

This implies the estimate for the spectral radius

$$r(x) \leq r(x^*x)/r(x)$$

or

$$r(x)^2 \leq r(x^*x).$$

The assumption

$$(12^*) \quad \|(x^*)^n\| = \min[\|x^n\|, \|(x^*)^n\|] \quad (n \geq n_0)$$

has by (6) the same consequence.

If neither of (12) and (12\*) holds then we may assume without loss of the generality that

$$(13) \quad 1 = r(x^*x)^{1/2} < r(x), \quad \|x\| \leq \|x^*\|$$

and

$$\|(x^*)^n\| \leq \|x^n\|, \quad \|x^{n+1}\| \leq \|(x^*)^{n+1}\|$$

for infinitely  $n$  many integers. From the identity

$$4(x^*)^{n+1} = \sum_{k=0}^3 i^k (x + (-i)^k (x^*)^n) (x^* + i^k x^n)$$

and using (4) together with the subadditive property of the norm, we get

$$\begin{aligned} \frac{1}{C} \|(x^*)^{n+1}\| &\leq (\|x\| + \|(x^*)^n\|)(\|x^*\| + \|x^n\|) \leq \\ &\leq C(\|x^*x\| + \|(x^*x)^n\|) + \|(x^*)^n\| \cdot \|x^*\| + \|x\| \cdot \|x^n\|. \end{aligned}$$

Noting that (4) also gives

$$\begin{aligned} (\min[\|x^n\|, \|(x^*)^n\|])^2 &\leq \min[\|x^n\|, \|(x^*)^n\|] \max[\|x^n\|, \|(x^*)^n\|] = \\ &= \|(x^*)^n\| \|x^n\| \leq C \|(x^*x)^n\|, \end{aligned}$$

we have from (13) by (7) and (9)

$$\begin{aligned} \frac{1}{C} \|(x^*)^{n+1}\| &\leq C^2(r(x^*x) + r(x^*x)^n) + Cr(x^*x)^{n/2} \cdot \|x^*\| + Cr(x^*x)^{1/2} \cdot \|x^n\| = \\ &= C(2C + \|x^*\|) + C\|x^n\|. \end{aligned}$$

Using the estimates

$$\|x^n\| \leq 2Cr(x^n) = 2Cr(x)^n, \quad r(x)^{n+1} = r(x^{n+1}) \leq C(\|x^{n+1}\| + \|(x^*)^{n+1}\|),$$

resulting from (8) and (9) we get by (4) and (12)

$$\begin{aligned} \frac{1}{C} r(x)^{n+1} - C &= \frac{1}{C} r(x)^{n+1} - Cr(x^*x)^{n+1/2} \leq \frac{1}{C} r(x)^{n+1} - C^{1/2} \cdot \|(x^*x)^{n+1}\|^{1/2} \leq \\ &\leq \frac{1}{C} r(x)^{n+1} - \|x^{n+1}\| \leq \|(x^*)^{n+1}\| \leq C^2 \cdot (2C + \|x^*\|) + 2C^3 r(x)^n. \end{aligned}$$

Letting  $n \rightarrow \infty$  we have

$$\frac{1}{C} r(x)^{n+1} \leq 2C^3 r(x)^n$$

or

$$r(x) \leq 2C^4.$$

Since in (13)  $r(x^*x) = 1$  was assumed, this implies for such an  $x$  in  $A$  for which (12) does not hold,

$$(14) \quad r(x) \leq 2C^4 r(x^*x)^{1/2}.$$

Because  $C \geq 1$ , we have then (14) for any  $x$  in  $A$ . But an easy computation gives now

$$r(x)^n = r(x^n) \leq 2C^4 r((x^*)^n x^n)^{1/2} = 2C^4 r(x^*x)^{n/2}, \quad n = 1, 2, \dots$$

and taking a limit  $n \rightarrow \infty$ ,

$$(5)' \quad r(x)^2 \leq r(x^*x) \quad (x \in A).$$

To have (5) we need only to prove the reverse to (5)'. But this is an easy consequence of (6) by the submultiplicative property of the spectral radius:

$$r(x^*x) \leq r(x^*)r(x) = r(x)^2 \quad \text{for any } x \in A.$$

We shall prove finally the equivalence of  $r(x)$  to the original norm. Using (9), (5), (7) and (4) in this order we get for any  $x$  in  $A$  the inequalities:

$$\frac{1!}{4C^2} \|x\|^2 \leq r(x)^2 = r(x^*x) \leq C \|x^*x\| \leq C^2 \|x^*\| \cdot \|x\|.$$

This implies the norm-continuity of the involution in the form

$$\|x^*\| \leq 4C^4 \|x\| \quad (x \in A)$$

and so

$$(15) \quad \frac{1}{2C} \|x\| \leq r(x) \leq 2C^3 \|x\| \quad (x \in A).$$

Thus we get that  $A$  is a  $C^*$ -algebra with an equivalent norm given by (3), as asserted.

*Remark.* It should be remarked that the resulting continuity of the involution implies that the auxiliary norm  $|\cdot|$  is also equivalent to the original norm and that in place of (10) the improved expression

$$r(x) = \lim_{n \rightarrow \infty} \|x^n\|^{1/n} \quad (x \in A)$$

holds.

The main result of this paper is the following theorem. We get this result as a consequence of [15], Theorem 5 in view of the proof of Theorem 2, namely (5).

**Theorem 3.** *Let  $A$  be a complex involutory algebra with complete linear space norm such that*

$$(X) \quad \|x^*x\| \cong \|x^*\| \|x\| \quad \text{for any } x \in A$$

and

$$(iv)_{(n)} \quad \|x^*x\| = \|x^*\| \|x\| \quad \text{for any } x^*x = xx^*$$

hold. Then  $A$  is a  $C^*$ -algebra with the original norm.

**PROOF.** Let  $C$  be arbitrary maximal commutative selfadjoint subalgebra of  $A$ . It is not immediate that  $C$  is closed in  $A$ , being the continuity of the multiplication does not ensured. But the proof of Theorem 2 implies that  $r(\cdot)$  is an equivalent norm with the  $C^*$ -property (5) on  $C$ . In case if (12) holds, the quasi-inverse of  $\lambda^{-1}x$  (for  $|\lambda| > r(x^*x)/r(x)$ ) exists in  $A$  (not sure that at all in  $C$ ) implying  $r(x)^2 = r(x^*x)$  also for such an  $x$  in  $C$ . In particular the multiplication in  $C$  is a continuous operation with respect to the original norm. The maximality of  $C$  now implies that  $C$  is closed in  $A$ , and so  $C$  is a  $C^*$ -algebra with an equivalent norm. As a consequence of [1], Theorem 2  $C$  is then itself a  $C^*$ -algebra with the original norm.

We shall prove that  $A$  is a  $C^*$ -algebra also. Denote  $A^\sim$  the  $|\cdot|$ -norm completion of  $A$ . Then  $A^\sim$  is a Banach  $*$ -algebra with respect to the norm  $|\cdot|$ . To show that  $A^\sim$  is a  $C^*$ -algebra with a norm equivalent to  $|\cdot|$ , we need by [13], Corollary 12 only that the set

$$M = \left\{ \sum_{n=1}^{\infty} (ih^\sim)^n/n! : h^{\sim*} = h^\sim \in A^\sim \right\}$$

is bounded in  $(A^\sim, |\cdot|)$ . Since by (7) for normal  $x \in A$  as an element of some maximal commutative selfadjoint subalgebra:

$$\frac{1}{\sqrt{2}} \|x\| \cong |x| \cong 8 \left[ \left\| \frac{x+x^*}{2} \right\| + \left\| \frac{x-x^*}{2i} \right\| \right] \cong 16r(x) = 16\|x\|$$

holds (from Lemma 1), we have for a selfadjoint  $h$  in  $A$

$$\frac{1}{\sqrt{2}} \left\| \sum_{n=1}^{\infty} (ih)^n/n! \right\| \cong \left| \sum_{n=1}^{\infty} (ih)^n/n! \right| \cong 16 \left\| \sum_{n=1}^{\infty} (ih)^n/n! \right\| \cong 32$$

being the  $C^*$ -norm of the quasi-unitary element  $\sum_{n=1}^{\infty} (ih)^n/n!$  is not greater than 2.



Let  $h^\sim$  be now a selfadjoint element in  $A^\sim$ , then for any  $\varepsilon > 0$  there exists  $h$  in  $H(A)$  such that

$$|h| \equiv |h^\sim| \quad \text{and} \quad |h^\sim - h| < \varepsilon e^{-|h^\sim|}.$$

It then follows that

$$\left| \sum_{n=1}^{\infty} (ih^\sim)^n/n! \right| \equiv \left| \sum_{n=1}^{\infty} (ih)^n/n! \right| + \varepsilon \equiv 32 + \varepsilon$$

since

$$\begin{aligned} \left| \sum_{n=1}^{\infty} \frac{1}{n!} [(ih^\sim)^n - (ih)^n] \right| &\equiv \sum_{n=1}^{\infty} \frac{1}{n!} \left| \sum_{m=0}^{n-1} (ih^\sim)^{n-m} (ih)^m - (ih^\sim)^{n-m-1} (ih)^{m+1} \right| = \\ &= \sum_{n=1}^{\infty} \frac{1}{n!} \left| \sum_{m=0}^{n-1} (ih^\sim)^{n-m-1} (ih^\sim - ih) (ih)^m \right| \equiv \\ &\equiv |h^\sim - h| \cdot \sum_{n=1}^{\infty} \frac{|h^\sim|^{n-m-1} |h|^m}{(n-1)!} \equiv |h^\sim - h| e^{|h^\sim|} < \varepsilon. \end{aligned}$$

Here  $\varepsilon$  was arbitrary so that 32 is a desired bound of  $M$  in norm  $|\cdot|$ . The  $C^*$ -norm must agree for any  $x$  in  $A$  with  $r(x^*x)^{1/2}$  as an easy consequence of the  $C^*$ -property. But (7) implies by the assumption

$$r(x^*x) = \|x^* \cdot x\| \quad (x \in A).$$

When we are able to prove

$$(16) \quad \|x\| \equiv \|x^*x\|^{1/2} \quad (x \in A),$$

then we have in fact

$$(17) \quad \|x\| = \|x^*x\|^{1/2} \quad (x \in A),$$

which proves the statement of the theorem. Indeed, since by assumption (X) we have

$$\|x\|^2 \equiv \|x^*x\| \equiv \|x^*\| \|x\|$$

for any  $x$  in  $A$ . This gives

$$\|x\| \equiv \|x^*\| \quad (x \in A)$$

or using (iii)

$$\|x^*\| = \|x\| \quad (x \in A).$$

Then (17) becomes clear from the estimates

$$\|x\| \equiv \|x^*x\|^{1/2} \equiv \|x^*\|^{1/2} \cdot \|x\|^{1/2} = \|x\| \quad (x \in A).$$

To prove (16) suppose that  $A$  possesses an identity element. Then [12], Corollary (3.7) ensures an appropriate expression of the  $C^*$ -norm for an  $x$  in  $A$  as follows:

$$\begin{aligned} \|x^*x\|^{1/2} &= \inf \left\{ \sum_{j=1}^n |\lambda_j| : x = \right. \\ &= \left. \sum_{j=1}^n \lambda_j \exp(ih_j^\sim), \quad h_j^{\sim*} = h_j^\sim \in A^\sim \quad (j = 1, 2, \dots), \quad n = 1, \dots \right\}. \end{aligned}$$

If now  $\sum_{j=1}^n |\lambda_j| < \|x^* x\|^{1/2} + \frac{\varepsilon}{2}$  for some  $\varepsilon > 0$ , choosing in  $A$  normal  $x_j$  ( $j = 1, 2, \dots, n$ ) such that

$$\|x_j\| = \|x_j^* x_j\|^{1/2} = 1, \quad |\exp(ih_j \tilde{\cdot}) - x_j| < \varepsilon/2\sqrt{2} \sum_{j=1}^n |\lambda_j| \quad (j = 1, 2, \dots, n),$$

we have

$$\begin{aligned} \|x\| &\leq \left\| x - \sum_{j=1}^n \lambda_j x_j \right\| + \left\| \sum_{j=1}^n \lambda_j x_j \right\| \leq \sqrt{2} \sum_{j=1}^n |\lambda_j| |\exp(ih_j \tilde{\cdot}) - x_j| + \sum_{j=1}^n |\lambda_j| < \\ &< \frac{\varepsilon}{2} + \|x^* x\|^{1/2} + \frac{\varepsilon}{2} = \|x^* x\|^{1/2} + \varepsilon \end{aligned}$$

and so (16), being  $\varepsilon$  arbitrary.

In case if  $A$  has not an identity

$$\begin{aligned} \|x^* x\|^{1/2} &= \inf \left\{ \sum_{j=1}^n |\lambda_j| : x = \right. \\ &= \left. \sum_{j=1}^n \lambda_j \sum_{m=1}^{\infty} (ih_j \tilde{\cdot})^m / m!, \quad h_j^* = h_j \tilde{\cdot} \in A \tilde{\cdot} \quad (j = 1, 2, \dots, n), \quad n = 1, 2, \dots \right\} \end{aligned}$$

holds similarly (where  $\sum_{j=1}^n \lambda_j = 0$ ). (16) can be shown in analogous way. The proof of theorem is thus complete.

We have the answer to the problem (I) as an immediate consequence of Theorem 3.

*Corollary 4.* Let  $A$  be a complex  $*$ -algebra with complete linear space norm with  $B^*$ -condition (iv).

Then  $A$  is a  $C^*$ -algebra.

## References

- [1] H. ARAKI—G. A. ELLIOTT, On the definition of  $C^*$ -algebras, *Publ. Res. Inst. for Math. Sci. Kyoto Univ.* **9** (1973), 93—112.
- [2] H. BEHNCKE, A note on the Gelfand—Naimark Conjecture, *Comm. Pure and Applied Math.* **23** (1970), 189—200.
- [3] E. BERKSON, Some characterizations of  $C^*$ -algebras, *Illionis J. Math.*, **10** (1966), 1—8.
- [4] G. A. ELLIOTT, A Weakening of the axioms for a  $C^*$ -algebra, *Math. Ann.*, **189** (1970), 257—260.
- [5] M. FUKAMIYA, On a theorem of Gelfand and Naimark and the  $B^*$ -algebra, *Kumamoto J. Sci. Ser. A* **1** (1952), 17—22.
- [6] I. M. GELFAND—M. A. NAIMARK, On the embedding of normed rings into the ring of operators in Hilbert space, *Math. Sbornik*, **12** (1943), 197—213.
- [7] B. W. GLICKFELD, A metric characterization of  $C(X)$  and its generalization to  $C^*$ -algebras, *Illionis Journal of Math.*, **10** (1966), 547—556.
- [8] J. G. GLIMM—R. V. KADISON, Unitary operators in  $C^*$ -algebras, *Pacific J. Math.*, **10** (1960), 547—556.

- [9] I. KAPLANSKY, Symmetry of Banach algebras, *Proc. Amer. Math. Soc.*, **3** (1952), 396—399.
- [10] J. L. KELLEY—R. L. VAUGHT, The positive cone in Banach algebras, *Trans. Amer. Math. Soc.*, **74** (1953), 44—55.
- [11] T. W. PALMER, Characterizations of  $C^*$ -algebras, *Bull. Amer. Math. Soc.*, **74** (1968), 538—540.
- [12] T. W. PALMER, Characterizations of  $C^*$ -algebras II., *Trans. Amer. Math. Soc.*, **148** (1970), 577—588.
- [13] T. W. PALMER, The Gelfand—Naimark pseudo-norm on Banach  $*$ -algebras, *J. London Math. Soc.* (2), **3** (1971), 59—66.
- [14] C. E. RICKART, General theory of Banach algebras, Van Nostrand, 1960.
- [15] Z. SEBESTYÉN, On a problem of Araki and Elliott, *to appear in Ann. Sci. Math.* (Budapest).
- [16] Z. SEBESTYÉN, A weakening of the definition of  $C^*$ -algebras, *Acta Sci. Math.* (Szeged), **35** (1973), 17—20.
- [17] B. J. VOWDEN, On the Gelfand—Naimark theorem, *J. London Math. Soc.*, **42** (1967), 725—731.

(Received 30. August, 1973.)